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; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
Zzhn s 1.00] 000 ~ 469 5843 | #nLS | 000 ~ 469]1.83 9.80 Zhs 1.00 | 6.00 ~ 5.00 5843 | TnUS | 5.00 ~ 5.00 | 1.83 9.80
2 100kN/m##8%%5| 1.00| 000 ~ 1.47| 12245 |3mEBZB| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 10565 ~ 1556 | 12245 |3mZEBZS -~ — — —
Zhnst 1.00| 147 ~ 926 100.00 | This | 000 ~ 9.26|2.35 12.55 ZThLLst 1.00 | 5.00 ~ 1055 100.00 | #nS | 5,00 ~ 1556 | 2.55 12.566
3 100kN/m##8%2%5| 1.00| 000 ~ 240 13752 |3mEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1078 ~ 2317 | 137.562 |3mZE#BZ3 -~ — — —
ZznLst 1.00 | 240 ~ 1019 100.00 | =S | 0.00 ~ 1019) 2.58 13.81 zh st 1.00 | 5.00 ~ 10.78 100.00 | =nSt | 6,00 ~ 2317| 2.68 13.81
4 100kN/m##8%%5| 1.00| 000 ~ 204 131.48 |3mEBZB| — ~ — — — | 100kN/m%#BZ 5| 1,00 | 11.43 ~ 2365 131.48 |3mZEiBZ5 -~ — — —
Zzhnst 1001204 ~ 982 100.00| ThLs | 000 ~ 982|248 13.29 ZThLLst 1.00|5.00 ~ 11.43| 100.00 | =nLS | 5,00 ~ 2365 2.48 13.29
5 100kN/m##8%%| 1.00| 000 ~ 118 11783 |3mZEBZB| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1269 ~ 1992 117.83 |3mZE#BZ% -~ — — —
zhnst 1.00] 118 ~ 897 100.00 | FThLs | 000 ~ 897|210 11.22 zh st 1.00 | 5.00 ~ 1269 100.00 | #nS | 500 ~ 1992 2.10 11.22
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 469 5844 | #ns | 0oo ~ 469]1.83 9.79 ZThLLst 1.00 | 5.00 ~ 5.00 5844 | TnLS | 5.00 ~ 5.00 | 1.83 9.79
- 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
LS 1.00 1 000 ~ 545 67.95 | Thst | 000 ~ 545] 1.80 9.62 ZThLlst 1.00 | 5.00 ~ 6.00 67.95 | =nS | 500 ~ 6.00 | 1.80 9.62
s 100kN/mM##BZ 5 — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — -~ — — |3m%EEZS -~ — — —
LS 1.00 1 000 ~ 469 5846 | #nLs | 0oo ~ 469]1.83 9.79 ThLLst 1.00 | 5.00 ~ 5.00 5846 | TnUS | 5.00 ~ 5.00 | 1.83 9.79
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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